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Ql. Write short notes on AnY Three of the following:-

^. Demerits of EquitY financing.

b. Duration of Bonds

c. Reverse Stock SPlit
d. Types ofTakeover

Max.Marks:60

(3x4= 12)

e1.a. ABC Limited stock is currently selling at Rs 335/- per share. The stock is expected to pay

Rs. 3.5 as dividend per share at the end of the next year. It is reliably estimated that the stock will

be available for Rs.421 at the end of one year. (06)

i. If the forecasts about the dividend and price are accurate is it advisable to buy at the

present price? His required rate of return is 20Yo'

ii. If the investor requires 20%o rcfixn when the dividend remains constant what

the price at the end of the first Year?

b. Discuss the Characteristics of Preference shares'

should be

(06)

OR

e2.x. The sangam company has common shares outstanding in the market with price

Jarnings ratio of 15. Th; annual expected growth in earnings, dividend and price is 7o/o.

The Earning per share is 2.5, dividend payout ratio is 600/o and investor wants to hold

stock for 4 years. The rate of return is 15%. What would be the present value? (06)

y. The Rate of Return of Swara fertilizers for the past 5 years is 18.58%. This is

assumed to continue for the next 5 years and after that the return is assumed to have a

growth rate of 10% indefrnitely. The dividend paid for the year is 18%o, required rate of

ieturn is 20%o. The price as on 14'h November 2013 is Rs.14l-. Estimate stock price

according to the two stage model. (06)



Q3.a. Answer the lollowing questions rvith regards to Uond Valuation:- (12)
i. Wrat is thc value of- a 5 5rear, Rs.100/- par rralue bond with a l2oh annual

coupon il- its required rate of return is l4oh?
ii. What is the value of tlae bond described in part (i) if it pays intcrcst scrni-

annually, othcr things being equal?
ii i . What is thc Yield to maturity ol- a 4 year, Rs. 1000 par v;rltrc lrontl rvit lr rr

coupott ratc tl{ '7o/o.Interest is paid arrnually and bond scrlls l irr ' |ts.905'/
iv .  What is the Yield to cal l  o l 'a22 ycar,  l ls .  1000 par valuc l rorrd rv i l l r  i r  ,1. .1( l i r

semiannual coupon and if the bond is cullccl allor I ycflrl; ul ir olrl l  pric:r 'ol ' l ts.
1043? l'he current market price is Il s. 1 037.47l-.

v. The face valuc of the bond is Rs.l000/-, current markct price is l{s. l l(X)/- rrnrl
coupon rate is 8%. What is the current yicld?

OR
Q3.x. Calculate the Duration of Bond A and Bond B with 6 o/o and 7o/o coupon rate
respectively having a maturity of 6 years. The face value is Rs 1000. Both bonds are
currently yielding 10%. (06)

y. A company's next year dividend pdr share is expected tcl be lts.3.50. 
'l'ho 

dividcnd
in subsequent years is expected to grow at a rate of 10% por year. I1'thc rcquirecl rate ol'
return is l5o/o per year. What should be its price? The prevailing market price is lt.s.75/-.

(02)

z. Briefly explain the different types of risks in Bond.

Q4.a. What is Cash Dividend? Discuss the factors affecting dividend policy,
b. Explain Stock Dividend with the help of an example.

Q5.a. Explain the different types of Mergers with the help of examples.

OR
x. Explain the Provision of payment of Dividend in India as psr Companies Act 2013.

(12)

(04)

(06)
(06)

(r2)
OR

x. What is a Merger? Discuss the Efficiency theory for Mergers & Acquisitions. (12)
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